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Introduction to amnn — v g

This chapter uses the 77117 j277 as a springboard for presenting some general rules about s, The reason for the focus on 771 1377 1s the 40 loaves
that accompany the /1711, all of which will be detailed herein.
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I ’® mwn: the amounts of flour used for nin "mnY, based on both »a1n and 'nYW11 measuring systems
a  Total: 5 nvnowy mro which was 6 m»271 MRD
i Using »7270 measure: =2 n@R, which is 20 1wy (source — vv. 1-2; teaching that na is 1/10 of a 113, na*k=n1 and we al-
ready know that 715=30 nRo > noR=3 NRD)
1 Division: 10 pwy for the 10 ynn loaves — 1 117wy per loaf; 10 pwy for the 30 nxn loaves — 1/3 11wy per loaf
2 jyp had three sets (of 10 each) — Pp*pa ,non and N1
it~ Using 'n5w1ry measure: 30 2p (in 5 NRO@6 2p per nRko); 15 for pnn (1.5 ap per loaf) and 15 for n¥n (.5 per loaf)
II  Y%nw: we don’t increase volume measures, coinage or allow for profit margin of more than 1/6
a  Reason: perhaps the reason for volume is not to generate panic buying
i Rejection: then why allow at all, even less than 1/6?
b Rather: to prevent the middleman from losing on his agency
i Rejection: he still needs to profit; if we allow 1/6 he comes out even with no gain
¢ Rather: based on v. 3 — Y9Rpn> describes a mn of 240 117 [(25+20+15) = 60 x 4 (4 13>7 per Ypw)]
i However: our nm is 100 717
1 Solution: he was referring to a “double-mn” (v1p nan); should be 200 7277
2 And: we allow for adding 1/6, 7290 - 200 becomes 240
(a) &2ra7 proof from our mwn — 5 M5>v1Y RO which are equal to 6 1211 NRO (i.e. 1/6 729n)
III ‘21 mwn: the gift to the 0303 from NN MmN
a  Given: 1 of 10 from each set, per v. 4
i 7nx: teaches that it must be a full loaf, not a slice
ii 377 551 must be equal distribution, not 2 from one set and none from another
iii ..y79% thatis given to |nJ, rest eaten by n’o>ya

4 This is the 2nd half of 'a mwn; the 1st half is presented later, at .ny
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b xr7zinterpreting v. 4 —

i

ii
iii
iv

vi

1op: must be in proximity of other loaves
1 Challenge: v. 11 uses 11nn — how is that 921nn?
(a) Indeed: per n” — may not cut off 7wa until »R are removed (i.e. must be from whole animal — 11nn)
775 may not be a slice
7377 52p: one from each (as per mwn) — may not take 2 from one set to “cover” for other
75 Avrm. unclear how much
1 Suggestion: v. 5 uses NN and intends 1/10 = n7in »nn’ should be 1/10 (>each set is 10 loaves)
2 Counter: v. 6 uses nm1n to refer to 011323, which have no 1w
(a) Analysis: 7wyn nmIN is more similar to N7 ’nNY — has no NN afterwards (unlike D11222)
(b) Counter: wm222 and NN *nNY must be eaten in specific locale; unlike n"In (eaten anywhere)
(c) Resolution: nmyn 1nn ( v. 5) is similar to nman....amn (v. 4), unmatched in re o2
3 Question (¥13): why not conclude from P %5w nmn (v. 12)? (i.e. 5% or 50%)
(a) Answer: that was a one-time ruling (nyw) which cannot be used to inform permanent n2%n (M)
4 Question: why not infer from nn (v. 13) (i.e. any myw)
(a) Answer: doesn’t use “1nn”, unlike 1wWYN NMIN
However: unclear how much flour goes into nTin "nn?
1 Suggestion: nTin has "onY” (v. 9), as do on%n mw (v. 7); 1 mwy per loaf = 1 nwy per set here as well
2 Counter: perhaps infer from nnan on% (v. 8), which has 2 7wy per loaf (12 loaves, 24 mnwy)
(a) Analysis: nmin is more similar to on%n v, as it is/has ynn and accompanies a nar, unlike o790 ond
(b) Counter: n'Tin is more similar to v’19n DNY, coming from anywhere and not wn (unlike on%n NY)
(c¢) Resolution: v. 7 adds w»an (to onon 'nw) > anything brought from elsewhere is like this — 1 1wy per loaf
(i) Challenge: if so, should also be a total of 2 mvy
(if) Block: m»nn indicates that only nnn 'nw is limited to 2 mawy
1. Meaning (»p27258 92 pny’ ’7): the extra 7"v alludes to 10 mnvy
a.  Challenge: perhaps it means 10 small bits (totalling 1 n7wy)
b.  Answer (¥37): context is mnIwy
Amount for nyn: we have learned that we require 10 mawy for ynn; how many for nxn?
1  Answer: v. 9 indicates that the same amount used for ynn (10 wY) should be used for n¥n
(a) Challenge: how can we take something inferred via wip’n (10 mawy for pnn — from onn 'nw) and then use
it to inform another (nxn)? (see :3-:0N DNAIT)
(i) Answer: itis informed by wp’n and another method
(if) However: according to 7"n that 9InR 721 Wpan YN cannot inform — how does this work?
1. Answer: Woan (v. 7) is a 121 to extend the amount of flour to n7n MmnY

vii  Types of loaves: we learn that there are three types of n¥n (per v. 10)
viii Result: the 30 nx¥n loaves have 10 1wy, the 10 ynn loaves have 10 maawy (divided as per niwn)
IV R17's question: does nTin »nn% nmn carry full characteristics of nm N
a  Implying: wnw »1a nnon for intentional violation by 91; wmn-fine for inadvertent violation by 9

i
ii
iii

Lemmal: since it is compared to n"n, carries full nman “personality”

Lemma2:1a (v. 14 — v"an for ) and yrwnn (v. 15 for mw) are pown, excluding nmn »mn nman

Associated question: would 1 of these loaves generate Y7 (if it fell into a group of other, indistinguishable loaves)
1 Answer:ypn
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